# A note on L<sup>1</sup>–Convergence of Rees- Stanojević Sum

# Nawneet Hooda

Department of Mathematics, DCR University of Science & Technology Murthal-131039(INDIA)

**Abstract:-** We obtain a necessary and sufficient condition for  $L^1$ -convergence of Rees-Stanojević [5] modified cosine sum and generalize a result of Garrett and Stanojević [2] and a classical result [1, p. 204].

Keywords:- L<sup>1</sup>-convergence, modified cosine sum, class R.

I.

## INTRODUCTION

Consider the cosine series

$$\frac{a_0}{2} + \sum_{k=1}^{\infty} a_k \cos kx \,. \tag{1.1}$$

Let  $S_n(x)$  denote the partial sum of (1.1) and  $f(x) = \lim_{n\to\infty} S_n(x)$ . Rees and Stanojević [5] introduced a modified cosine sum

$$f_{n}(x) = \frac{1}{2} \sum_{k=0}^{n} \Delta a_{k} + \sum_{k=1}^{n} \sum_{j=k}^{n} \Delta a_{j} \cos kx, \qquad (1.2)$$

and obtained a necessary and sufficient condition for its integrability. A null sequence  $\{a_k\}$  is said to be quasi-convex if

$$\sum_{k=1}^\infty \quad (k{+}1) \; |\Delta^2 a_k| < \infty \; .$$

Regarding the convergence of  $f_n(x)$  in L-metric, Garrett and Stanojević [2] proved the following theorem :

**Theorem A.** If  $\{a_k\}$  is a null quasi-convex sequence, then  $f_n(x)$  converges to f(x) in L-metric. The following results are known :

**Theorem B** [1, p. 202]. If  $\{a_k\}$  is a quasi-convex null sequence, then (1.1) is a Fourier series of its point-wise limit.

**Theorem C** [1, p. 204]. If  $a_k \downarrow 0$  and  $\{a_k\}$  is convex or even quasi-convex, then for L<sup>1</sup>-convergence of (1.1) it is necessary and sufficient that  $\lim_{n\to\infty} a_n \log n = 0$ .

Kano [4, Theorem E] generalized Theorem B by proving the result :

**Theorem D.** If 
$$a_k \to 0$$
 as  $k \to \infty$  and

$$\sum_{k=1}^{\infty} k^2 \left| \Delta^2 \left( \frac{\mathbf{a}_k}{k} \right) \right| < \infty , \qquad (1.3)$$

then (1.1) is a Fourier series.

The aim of this paper is to generalize theorem A by obtaining a necessary and sufficient condition for  $L^1$ -convergence of  $f_n(x)$  under (1.3).Our corollary is the extension of Theorem C.

### II. LEMMA

For the proof of our result, we require the following lemma :

**Lemma 1[3].** Let  $D_n(x)$ ,  $\overline{D}_n(x)$  and  $K_n(x)$  denote Dirichlet, conjugate Dirichlet and Fejér kernels respectively, then

$$D_n(x) = K_n(x) + \frac{1}{n+1} \overline{D'}_n(x).$$

<sup>2000</sup> AMS Mathematics Subject Classification. 42 A 20, 42 A 32

#### III. RESULTS

We prove the following result :

**Theorem 1.** Let  $\{a_k\}$  satisfy (1.3). Then

 $\lim_{n \to \infty} f_n(x) = f(x)$  for  $x \; \epsilon \; (0,\pi]$  and f  $\epsilon \; L \; (0,\pi]$  . (i)

(ii)  $\| f_n - f \| = o(1), \quad n \to \infty.$ 

Proof. (i) We have

$$\begin{split} \mathrm{f}_{n}(x) &= \; \frac{1}{2} \sum_{k=0}^{n} \Delta a_{k} + \sum_{k=1}^{n} \; \sum_{j=k}^{n} \Delta a_{j} \cos kx \\ &= \; \frac{a_{0}}{2} + \sum_{k=1}^{n} a_{k} \; \cos kx - a_{n+1} \, \mathrm{D}_{n}(x) \, . \end{split}$$

Since  $\{a_k\}$  is null sequence,  $\lim_{n\to\infty} f_n(x) = f(x)$  for  $x \in (0,\pi]$ , and by Theorem D we have  $f \in L(0,\pi]$ . (ii) Application of Lemma 1 yields

$$\begin{split} f(x) - f_n(x) &= \sum_{k=n+1}^{\infty} a_k \cos kx + a_{n+1} D_n(x) \\ &= \sum_{k=n+1}^{\infty} a_k \cos kx + \frac{a_{n+1}}{n+1} \overline{D'}_n(x) + a_{n+1} K_n(x) \\ &= \lim_{m \to \infty} \frac{d}{dx} \left( \sum_{k=n+1}^m \frac{a_k}{k} \sin kx \right) + \frac{a_{n+1}}{n+1} \overline{D'}_n(x) + a_{n+1} K_n(x). \end{split}$$

Using Abel's transformation twice, we have

$$\begin{split} \mathrm{f}(\mathrm{x}) &- \mathrm{f}_{\mathrm{n}}(\mathrm{x}) = \lim_{m \to \infty} \left[ \sum_{\mathrm{k}=\mathrm{n}+1}^{\mathrm{m}-1} \Delta \left( \frac{a_{\mathrm{k}}}{\mathrm{k}} \right) \overline{\mathrm{D}'}_{\mathrm{k}} \left( \mathrm{X} \right) + \frac{a_{\mathrm{m}}}{\mathrm{m}} \ \overline{\mathrm{D}'}_{\mathrm{m}}(\mathrm{x}) \\ &- \frac{a_{\mathrm{n}+1}}{\mathrm{n}+1} \overline{\mathrm{D}'}_{\mathrm{n}} \left( \mathrm{X} \right) \right] + \frac{a_{\mathrm{n}+1}}{\mathrm{n}+1} \ \overline{\mathrm{D}'}_{\mathrm{n}}(\mathrm{x}) + a_{\mathrm{n}+1} \ \mathrm{K}_{\mathrm{n}}(\mathrm{x}) \\ &= \lim_{\mathrm{m} \to \infty} \left[ \sum_{\mathrm{k}=\mathrm{n}+1}^{\mathrm{m}-2} (\mathrm{k}+1) \Delta^{2} \left( \frac{a_{\mathrm{k}}}{\mathrm{k}} \right) \ \overline{\mathrm{K}'}_{\mathrm{k}}(\mathrm{x}) + \mathrm{m}\Delta \left( \frac{a_{\mathrm{m}-1}}{\mathrm{m}-1} \right) \ \overline{\mathrm{K}'}_{\mathrm{m}-1}(\mathrm{x}) \\ &- (\mathrm{n}+1) \Delta \left( \frac{a_{\mathrm{n}+1}}{\mathrm{n}+1} \right) \ \overline{\mathrm{K}'}_{\mathrm{n}}(\mathrm{x}) + \frac{a_{\mathrm{m}}}{\mathrm{m}} \ \overline{\mathrm{D}'}_{\mathrm{n}}(\mathrm{x}) + a_{\mathrm{n}+1} \ \mathrm{K}_{\mathrm{n}}(\mathrm{x}) \ \end{array} \right] \\ &= \sum_{\mathrm{k}=\mathrm{n}+1}^{\infty} (\mathrm{k}+1) \Delta^{2} \left( \frac{a_{\mathrm{k}}}{\mathrm{k}} \right) \ \overline{\mathrm{K}'}_{\mathrm{k}}(\mathrm{x}) - (\mathrm{n}+1) \Delta \left( \frac{a_{\mathrm{n}+1}}{\mathrm{n}+1} \right) \ \overline{\mathrm{K}'}_{\mathrm{n}}(\mathrm{x}) \\ &+ a_{\mathrm{n}+1} \ \mathrm{K}_{\mathrm{n}}(\mathrm{x}) \ , \end{split}$$

where  $\overline{K}_k(x)$  denotes the conjugate Fejér kernel. Thus

$$\int_{-\pi}^{\pi} |f(x) - f_{n}(x)| dx \leq \sum_{k=n+1}^{\infty} (k+1) \left| \Delta^{2} \left( \frac{a_{k}}{k} \right) \right| \int_{-\pi}^{\pi} |\overline{K'}_{k}(x)| dx$$
$$+ (n+1) \left| \Delta \left( \frac{a_{n+1}}{n+1} \right) \right| \int_{-\pi}^{\pi} |\overline{K'}_{n}(x)| dx + \pi a_{n+1} dx$$

since

 $\int_{n}^{\pi} |K_n(x)| \, dx = \pi \, .$ -π But, by Zygmund's Theorem [1, p. 458], we have

$$\int_{-\pi}^{\pi} |\overline{K'}_{k}(x)| dx = O(k).$$

Also,

$$\begin{split} \left| \Delta \left( \begin{array}{c} \frac{a_{n+1}}{n+1} \end{array} \right) \right| &= \left| \begin{array}{c} \sum_{k=n+1}^{\infty} \Delta^2 \left( \begin{array}{c} \frac{a_k}{k} \end{array} \right) \right| \\ &\leq \sum_{k=n+1}^{\infty} \frac{k^2}{k^2} \right| \Delta^2 \left( \begin{array}{c} \frac{a_k}{k} \end{array} \right) \right| \\ &\leq \frac{1}{(n+1)^2} \sum_{k=n+1}^{\infty} k^2 \left| \begin{array}{c} \Delta^2 \left( \begin{array}{c} \frac{a_k}{k} \end{array} \right) \right| \\ &= o \left( \frac{1}{(n+1)^2} \right). \end{split}$$

Thus, it follows that

$$\int_{-\pi}^{\pi} |f(\mathbf{x}) - f_n(\mathbf{x})| d\mathbf{x} = O\left(\sum_{k=n+1}^{\infty} (k+1)^2 \left| \Delta^2 \left( \frac{\mathbf{a}_k}{k} \right) \right| \right) + o(1) + o(1)$$
$$= o(1).$$

#### IV. **CORROLARY**

(i)  $\label{eq:left} \text{Let } \{a_k\} \text{ satisfy (1.3), then } \quad \| \ f(x) - S_n(x) \| = o(1), \quad n \to \infty \,,$  $\text{if and only if} \quad |a_{n+1}|\log n = o(1), \, n {\rightarrow} \infty \, .$ 

**Proof.** We have

$$\int_{-\pi}^{\pi} |f(x) - S_n(x)| \, dx \le \int_{-\pi}^{\pi} |f(x) - f_n(x)| \, dx + \int_{-\pi}^{\pi} |f_n(x) - S_n(x)| \, dx$$

$$= \int_{-\pi}^{\pi} |f(x) - f_n(x)| \, dx + \int_{-\pi}^{\pi} |a_{n+1}D_n(x)| \, dx,$$

and

$$\int_{-\pi}^{\pi} |a_{n+1}D_{n}(x)| dx = \int_{-\pi}^{\pi} |f_{n}(x) - S_{n}(x)| dx$$

$$\leq \int_{-\pi}^{\pi} |f(x) - S_{n}(x)| dx + \int_{-\pi}^{\pi} |f(x) - f_{n}(x)| dx .$$

Since,

$$\lim_{n\to\infty} \int_{-\pi}^{\pi} |f(x) - f_n(x)| \, dx = 0 \text{ by our Theorem 1 and } \int_{-\pi}^{\pi} |D_n(x)| \, dx \text{ behaves like log n for large n}$$

the conclusion follows.

## REFERENCES

- [1].
- Barry N K, A Treatise on Trigonometric Series, Vol. II, Pregamon Press, London, 1964. Garrett J W and Stanojević Č V, On integrability and L<sup>1</sup>-convergence of certain cosine sums, Notices Amer. [2]. Math. Soc. 22 (1975) A-166.
- [3]. Hooda N and Ram B, Convergence of certain modified cosine sums, Indian Journal of Mathematics, Vol. 44(1) (2002)41-46.
- [4]. Kano T, Coefficients of some trigonometric series, J. Fac. Sci. Shinshu Univ. 3 (1968) 153-62.
- [5]. Rees C S and Stanojević Č V, Necessary and sufficient condition for integrability of certain cosine sums, J. Math. Anal. Appl. 43 (1973) 579-586.